B (F45E1R)

R BRI TIRDL (S TE8 H 47)

ZHFEA A XSy iﬁjﬁ‘ﬁ NAEE a4 (M)
R1.8.2 L MRS TEAE 5B 1EE RS 5,000
R1.8.5 = fE SO R REIRFERTEHD 10,000
R1.8.7 R AlS03 L ERA R AMAE N 10,000
R1.8.5 Z Dt F HER VB IE A AL 2 — R BRI - pE 2,130
R1.8.15 Bl F— IV SHSEHEER TR 5,000
R1.8.15 R4 HARAE RSB S 5,000
R1.8.16 Z DAt Y PRFHY 74— = MR RSB =~ 4,050
R1.8.22 PR4 | SRR 10,000
R1.8.24 = FE28[m HHEF X - AT TH AR — Y iR /BBl 5,000
R1.8.21 Z DAt T30 B AR LK R AR 22 PR A 6 AL PE A il AR 2,207
& & 1044 58,3871

2R (TR )

XSy 7 AT () (T
= 1244 79,0004
il & 194F 115,000
ih4 o 0
R (as 47,140
RS o 0
Z DA CIES 29,503
iy 4714 270,643




